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1.To prepare 500 mL, 50 mM acetate buffer solution, calculate how many grams of sodium
acetate and acetic acid are needed? (pKa of acetic acid: 4.76, acetic acid: 60.05 g/mol, sodium
acetate: 82.03 g/mol) (10 » )

2.What are the difference between qualitative and quantitative analysis? (5 4 )

3.Please define the methods of external standard calibration, internal standard calibration, and
standard addition. (15 4 )

4.Please explain the function of mobile phase and stationary phase in chromatography. (10 4 )

5.In analytical chemistry, two types of tools are employed, one is separation, the other is
identification. Please list 5 instruments for separation and 5 for identification. (10 4 )

S FIEE (FEHIES0A > FRE2 A 0 £ 25488)

L3R kS5 - kAR > 2

(A)Q=0>W=0-AU=0>AH=0 (B) Q#0>W=0>-AU=0>AH=Q
(C)Q=-W->AU=Q+W>AH=0 (D) Q=W AU=Q+W > AH=0

2.Hy(9)fr Qx(0) @ #dm¥g® F 2 -k > Bl :

(A) AH=0 (B) AU=0 (C) AS=0 (D) AG=0

3.2 % 298K P& » AH(CaO, S) = —634.9 kJ-mol™ » AH(H,0, 1) = -285.8 kJ-mol™ >
AH(Ca(OH),, S) = —985.2 kd-mol™ - z&#* : 1kg 2 CaO(s)£2 -k & & 4 = Ca(OH),(s)
Pradac s 50 kI

(A) —2300.2 (B) 1150 (C) -1150 (D) 2300.2

Aigitiple el - F R A A% B B2 -

(1) Na(g) + 3H2(g) — 2NH;(g) » AG(1)

(2) %Nz(g) ; %Hz(g) s NHy(g) * AG(2)
AIAG(1) 2 AG(2) s hd 4 &_:
(A) AG(2) (B) AG(1)=[AG(2)]

(C) AG(l):%AG(Z) (D) AG(1)=2AG(2)

Sk Satid (R RET) BT 7P d S s o
(A) SO(g) (B) SO(9) (C) SOs(g) (D) HaS04(1)

6.c 4 CuCl, (s) + Cu(s) — 2CuClI(s)
AH(1) = 170 kJ-mol™
Cu (s) + Cl, (g) — CuCly(s)
AH(2) = 206 kJ-mol™
BJAH(CUCl > s)/& % % > kJ-mol™ ?
(A) 36 (B) 18 (C) -18 (D) -36

(1)

(2)

7.298K T > # A E B R H FenT Akt d o R

(A)S>AG3#=% 0 AH=0 (B) AH=0 > AG#0 > S#0
(C) S#0° AH=0 > AG=0 (D)S>AG-AH3¥=5 0

\y

8.¢ & Na(s) + %Clz(g) — NaCl(s)shAH= —411.2 kJ-mol™ » Rl#%F & :

(A) BEPEBRT T pFER
(B) Biziwif BT 487 i p 317

T

(C) BRETHAFLEF: &IGRT i f#FiEr

(D) BBE™ 4 i L1 BT P LR

9.3 298K P¥ > CH4(g) » CO4(9) * F= H,O()eHAG A w] % -50.8 kd-mol™*>-394.4 kJ-mol™>
—237.2 kJ-mol™ > ] 298K B# » CH4(g)+20,(g) — CO,(g)+2H,0()HAG %

kJ-mol™ 2

(A) -818 (B) 818 (C) -580.8 (D) 580.8

10.298K 7 » = & 2Fe(s) + %Oz(g)—>Fe203(s)

AG(1) = -742.2 kJ-mol™
4Fe,05 () + Fe (s) > 3Fe304(s)
AG(2) = -77.4 kJ-mol™

B 298K F& > FesO, (5)=AG % % 4 ki-mol™ ?

(A) -1015.4 (B) 1015.4 (C) 3046.2

11.298K > T 7| K Jig @ entropy B3 4v B § e E_:

(A) Ha(g) +Bry(l) — 2HBr(g)

(B) 2N,Hy(l) + N,O4(1) — 3N,(g) + 4H,0(l)

(C) Na(g) + 3H2(g) — 2NH3(g)

(D) 2N, +0,(g) — 2N,0(g)

(E) NH,CI (s) —222 5 NH,(aq) + CI"(aq)

(1)

(2)

(D) —3046.2
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12.% % F s ehAG(298K)= 10 kI-mol™ » B4558 ~ 5B i% £ T » T 5|3k I Frend
(A) 3% F i hAH(298K)>0 » AS(298K)<0
(B) #2F o= %% it p# it f
(C) #%F Bafh BT » - A fHFiEh
(D) 298K » R ik 2™ » %k fu— T A i pFEF

13.% &~ F Jis 2A(9) + B(9) — C(9) * # 2mol A(9)f= 1mol B(g)*= = 1L % E ¢ = & -
MAZBRYF et 5 LAS B £ - LpFR i 5B .
(A)025 (B)4 (C)8 (D)1

14.F it & ¥ kK - B ¢

(A) = ¥ hiidk (B) ¥ =% mol-L st engdk
(C) ¥ =% mol>L st engiic (D) ¥ =% %ihsidk

15. &g T8 BT Ny(g) + 3Ha(g) = 2NH3(g)5% s @ > 5 2.0min # NHa(g) &k &
Hi4c7 0.6molL™ s 2% Hy(Q) ik R 1 &7 o F T 30F ig & 0 pl 5

(A) 0.3mol-Ltmin™ (B) 0.15 mol-L ™ -min!
(C) 0.60 mol-L ™ min* (D) 0.90 mol-L™*min™

16. Zi%{ F @Az"‘Bz—)ZAB 2203 ﬁg, 7?_?_4 = r—k[Az][Bz]Bi: ’ E"J;LL‘F )f@ :
(A) - TA®F & (B) - TAA*F I

(C) iz T AT HAIF & (D) A k#®EB-5F b

1785 - B F om0 SR I AN

(A) AH ehf s+ > B F g S45fe  (B) AG ohj EARS » 3 F bt AR

(C) Fwitidx+~ » H &7 g FAxpP- (D) Eivicdx ] > HF fid So4xp-
18R F il R ThFFenk i F 4 8ics Kp To ek i F ¥ s K & To>Tyo
ki<k,» B :(H ¥ E &8 51 » AH E_F B#)
(A) E,<0 (B) E,>0 (C) AH<O0 (D) AH>0
19.¢ i F enid it i Eo( ) <Eu(i2) s Bl (H P AH 5 F B4)

(A) F g ssienh 3 Tiag M AH 03 Tan B
(B) AH<O

(C) AH>0

(D) #wF s- T p#ikis

20.7% 7l gt ¥ B FE A

(A) 8 F g+ FIFY F}T@—ze‘.f«r'} 1&\%;2; xq&ﬁjﬁgg
(B) 7 it & ¥ #lcent ) T K it Feh o]
(C) F llicAkF > F Joif F4x+
1
(D) & 1 % H0x(a0) > HoO() + —Oa(Q)<h7F fid = > i 820%™ 2 3%
iR 2 O(Q) A8 LT PF [ g 1

21.7F 7|4kt P o FRen g
(A) 2t A F I d FFHEAF B
(B) ™F it 5= 427 &4 Femb R endg BB 0 F 5= 4250 ¢ 2 X B diep > o &
Tt 5 A AF o
(C) F BRBEEFE By ok B> N7 chi 3 i
(D) 7 Jeid 5 2 F Jodr ik B engeff & 0 0
22.7 Fem it T pE e
(A)Ei et ] 3 - TR 27— BF B> 07 127 - F 5 R ol

Figyr R ¥

o

B
<B>Eﬁ—ﬁﬂﬁﬁ@wﬁ@ﬁ*%fﬁ@%%&ﬁ%f*ﬂ“
(C) ERaBF AP > F B S ¥ BckRAF 5o B F i S+
(D) 1357 2 £ & #7 (Arrhenius) 258 - A B3 b F R R FEC 4k o T

SR RT 0 B F B XV Bk- T4
23430 F it F ¥ B0 T HGE o end
(A) %7 BOAG A% » &P F Jlehk Jid 5 ¥ Hedk &
(B) - BF ek B F ¥ v gd :x8F R kAR ~ BR4 fodi A ki
(C) F JeehF Joid 5 ¥ iz o i 27 SREF dkc
(D) r éi'rsz ¥+
24 1 Y5 A5 IT 4 | ¥ P foit I FEenE
(1) 2B EARF BEF DR FIEFERL BR AT FL AT p &2k
(2) BAF Bjrd- TRz 5k &
(3) "BF R#ASEEEGE)-E(2) (E &7 5 4)
(A) (1) (B)(2)f=(3) (C)(L)4=(2) (D)(1) (2) f= (3)

2554 B BRKE L 9B AB > C) 0 ¥ H- BF ik i %k ok 2
P BE ihE i S ¥k LN S TG A RO Rlies BF K
1t R BEa 8 B 0B T 21T F R AR o

(A> Ea1>Ea2 (B> Ea1<Ea2 (C) EaleaZ (D) K J;‘l:ﬁfi



